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D̂kH
ik = 0 , H

ik = F
ik +Rikmn

Fmn , %&�'�(

Rik − 1

2
Rgik = Λ gik + 8π T

(eff)
ik . %&�'8(
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��Hik �������� 	�
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Rikmn
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T
(eff)
ik = T

(YM)
ik + q1T

(I)
ik + q2T

(II)
ik + q3T

(III)
ik . %&�'�(
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T
(I)
ik = RT

(YM)
ik − 1

2
RikF

(a)
mnF

mn
(a) +

1

2

[
D̂iD̂k − gikD̂

lD̂l

] [
F (a)
mnF

mn
(a)

]
, %&�'9(

T
(II)
ik = −1

2
gik

[
D̂mD̂l

(
Fmn
(a) F

l (a)
n

)
−RlmFmn

(a) F
l (a)
n

]
− F ln

(a)

(
RilF

(a)
kn +RklF

(a)
in

)
−

−RmnF
(a)
im Fkn(a) −

1

2
D̂mD̂m

(
F

(a)
in F n

k(a)

)
+

1

2
D̂l

[
D̂i

(
F

(a)
kn F ln

(a)

)
+ D̂k

(
F

(a)
in F ln

(a)

)]
, %&�':(

T
(III)
ik =

1

4
gikR

mnlsF (a)
mnFls(a) −

3

4
F ls
(a)

(
F

n(a)
i Rknls + F

n(a)
k Rinls

)
−

− 1

2
D̂mD̂n

[
F

n(a)
i F m

k(a) + F
n(a)

k F m
i(a)

]
. %&�);(
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(eff)
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��	" ����
	�	�� ∇kT
(eff)
ik = 0�
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��� �	����� ��	������������� ���� ����������� T
(YM)
ik � �	���� T (eff)

��		� ��	�� �������� �� ���� 

T (eff) = −1

2
RmnlsF (a)

mnF ls(a) − (q2 + q3) D̂mD̂n

[
F kn(a)F m

k(a)

]
− 1

2
(3q1 + q2) D̂

kD̂k

[
F (a)
mnF

mn
(a)

]
. !"#$"%

&����	��� q1� q2 � q3� 
��
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���� �
��(��� �����
�������) �* +����	��
� ��,	� 
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�
	�	�� + ��������� 	��� 
��������
����� �	+��� ��������	������ ���
��,	����� ����	����#
&��
	�	� �	���	 ����	�� ��+�� �	��+-��#
�� ������ 	�
����
��	�
�� �������������� ������� ��
����
.��� ���������� ��� Rikmn = qRikmn� +�+ ��� ��	��� &������� /0℄� �� �� �������� ��� q1 = q2 = 0�
q3 = q� ��	 q 2 	�����
	���� �����
������ �����	��#
�� ������ 	�
����
��	�
�� �������������� �	���� �������
� ������� ��
����
���
���-������ �������� ��������� �	����� ��+�
	��� �
��	��� �
�,�� �������� �	���� ���
����

Gikmn = ∗R∗
ikmn =

1

4
ǫikpq ǫmnrsR

pqrs . !"#$5%
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∇iGikmn = 0 . !"#$$%
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Gikmn = −1

2
R(gimgkn − gingkm) + (Rimgkn +Rkngim −Ringkm −Rkmgin)−Rikmn . !"#$0%

8�+�� �
������ 	��� ��	�����,���� ��� �	���� 
���������
���� Rikmn ������-�����	� �
�,��
��������� �	����� ������� �� ������	� ���������	����	�+�( ���	��� ��� +������ q1 = q3 = −q�
q2 = 2q# ��	�
�	 ��+�� ���	�� ��� �������� �	������������ 
������	���
�� ���
���-������� �
��	+������������� ���	� ���������
����� 9����	�+� 
 ":;< ���� /5�℄# &����		 ��� ,	 ������,��
�� 
�� ������	� =�*���	� /5:℄ � �(��	��9����	��� /$>℄ ���?� ����	���� �	��+-�� �����	�����
������,���� �������=���	# 9����	�+� � �(��	��9����	� �
�
'��� ���	�� �� ������ �	�
	�	
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���A�� ������+ �����
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 +���
��
������ ���� �
�	����	�+��� �	����� 
� 
�	* ���
�	���* ��
	� �
�� /">�""℄#
	� ������ 	�
����
��	�
�� �������������� ������� ������
8	���� +��������� +��
���� !�	���� �	���% ��		� 
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Cikmn = Rikmn − 1

2
(Rimgkn +Rkngim −Ringkm −Rkmgin) +

1

6
R(gimgkn − gingkm) . !"#$�%
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�� ���	 ���	+��
 ��
�� ���( gimCikmn = 0# .��� ��	�����,����
��� �	���� 
���������
���� ������-�����	� �	����� +��������� +��
����� �� 3q1 + q2 = 0�
q2+q3 = 0# C	�
*����� ���	����� ��� 
 ������ ���	�� 
 �����	 +�������� ����+��� ����������
��
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�	��� ������+� +���
��
������ ���� !"#5�% ��
����(� � ������������ ���
�	���
��� �����������#
�� ������  ��

����!"��������
D������� � 9���	�� 
 /<℄� ���������
�� �����	��	
�	 �����
+� + ������,���� 
 ���+�* +
���
��
�� ��	+���������+� 
 ��+��
�?���� ����������
	�
�	�	��� �������� �
��	 
���,	��� ���
+������� �	������������ 
������	���
�� q1� q2� q3 

q1 = −5q , q2 = 13q , q3 = −2q , q =
αem

180πm2
, !"#$<%

��	 m 2 ����� ��	+������ αem ≈ 1/137 2 ���������� ���+�� ����+����#
C	������ �� ��� ��� ������ ���	�� �����	�� 
 ���+�* �	������������ ���A��	��� ��	+������

����+�� ��������� ��,�� ���������
��� +�������� q1� q2� q3� �
������	 �	�� ,	 ������A	������
� 
 �����	 �	����������� �	���� E��A�	���������������#
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 ������������
 ���	� A
(a)
m = Amq(a)� F

(a)
mn = Fmnq

(a)� ��	 q(a) � ����������
�����	��� ����������� ���� ���� ���

∇kH
ik = 0 , Hik = F ik +RikmnFmn . !"#$%&

'��������� (�)�� �	�	�����
 � ����	(� �����	��� *�� �	���+

Rik − 1

2
Rgik = 8πq2 T

(eff)
ik , q2 ≡ q(a)q(a) . !"#$,&

-�	�
 T
(eff)
ik ��	�������	� ����� .��	������� �	���� .�	����0�(���
��

T
(eff)
ik = T

(M)
ik + q1T

(1)
ik + q2T

(2)
ik + q3T

(3)
ik , !"#$�&

� �	����� T
(M)
ik � T

(1)
ik � T

(2)
ik � T

(3)
ik ����1��� ������ 	���(�

T
(M)
ik ≡ 1

4
gikFmnF

mn − FinFk
n , !"#23&

T
(1)
ik = RT

(M)
ik − 1

2
RikFmnF

mn +
1

2

[
∇i∇k − gik∇l∇l

]
FmnF

mn , !"#2"&

T
(2)
ik = −1

2
gik

[
∇m∇l

(
FmnF l

n

)
−RlmFmnF l

n

]
− F ln (RilFkn +RklFin)−RmnFimFkn −

− 1

2
∇m∇m (FinF

n
k ) +

1

2
∇l

[
∇i

(
FknF

ln
)
+∇k

(
FinF

ln
)]

, !"#24&

T
(3)
ik =

1

4
gikR

mnlsFmnFls −
3

4
F ls (F n

i Rknls + F n
k Rinls)−

1

2
∇m∇n [F n

i F m
k + F n

k F m
i ] . !"#2$&
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ds2 = σ2Ndt2 − dr2

N
−R2

(
dθ2 + sin2 θdϕ2

)
, !4#"&

��	 ����6�� σ� N � R ������� ���
�� �� 8������
���9 �	�	(	���� r# :��� (���(��
��	 ����	��	
����6�� R2(r) ����� ���1� �� �������� ��� ������������0��	(� �(		� 86	���9#
����(����( �	(���(��
��1 (��	�
 *�� �	��������������� � (	������ !4#"& ��� R(r) = r<

��� ��	6���
���� ������ q1 + q2 + q3 = 0� 2q1 + q2 = 0 ����� (��	�
 � ���	���( (�������(
������( ����	�������
 � �����	 =$"℄# �� ����	������( ���? ���(���	 �� ������������( ���	�
������	 �������	��� ��	6���
��(� ��	������1 !�(# =$4℄&+

A0 = Ar = 0 , Aθ = −i
(w
ν
− 1
)
tϕ, Aϕ = i (w − ν) sin θ tθ . !4#4&

�	�	������ tr� tθ � tϕ ������� �� ��������� � ������� �� ����������(� �	�	������(� ������
SU(2) ���

tr = cos νϕ sin θ t(1) + sin νϕ sin θ t(2) + cos θ t(3) , tθ = ∂θtr , tϕ =
1

ν sin θ
∂ϕtr , !4#$&
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�

������
[tr, tθ] = i tϕ , [tθ , tϕ] = i tr , [tϕ, tr] = i tθ . 	
��


������ ������������� � ��������������� ������ ����� ������ ���� ��������� �����������

Fθϕ = −i
(w2 − ν2)

ν
sin θ tr , 	
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������� �� ������� �� ���������! r" � ������� ��������! #�$�%&����� �������� � ������ ����'
�����

w(w2 − ν2)

r4
(
1 + 2Rθϕ

θϕ

)
= 0 . 	
��


(�)������� ��� ��������+� ����������� ������������� ������,���� 	
��
� ��'����+-" w = 0"
��'����+-" w = ±ν" �'������-" 1+2Rθϕ

θϕ = 0� .��� ������������'����� �������� ��������������
������� 	Rikmn(r → ∞) = 0
" �� ��������! ��������� � ��������� 	
��
 �� ����� /+�� ����� ��'
�� ������������� 0�$�� w = ±ν" �� 	
� 
 �+ ��������" ��� Fik ����� ���� �" �������������" ���'
��� ��,���� ����+���� ��� ���+������ ������ ����/������ 1�����2" ��$�� w = 0" �+ ����� ����
� ���������+� ��,����� 3�%#�$�" ������������� ���� #�$�%&����� ������$� Fθϕ = i ν sin θ tr"
����� ��" ��� � ����������� ������ 4

℄� 0�� ��������" 6�� ��,���� �������� 6��������� �/���'
�+�" ��� ��� � ����)�� ���-���)�$� ����/�������$� ����/��������� U = exp(−i θ tϕ) ��� �����
/+�� ����/�������� � ������������ �����2���� ����������$� ���� � $��������� ����/�������!
$����+ t(3)�
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���� 
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� 7�� ������� 	
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 R = r ������ ���+�� ���������+ ������� :!�,��!'
�� ������+ �� �����

G 0
0 =

1−N

r2
− N ′

r
, G r

r =
1−N

r2
− N ′

r
− 2Nσ′

rσ
, 	
�;


G θ
θ = Gϕ

ϕ = − 1

2rσ
(2σN ′ + 2Nσ′ + 3rσ′N ′ + 2rNσ′′ + rσN ′′) . 	
�<


=���- �������� ����������� �� ���������! ���������! r� (�����������)�� ���+�� �������+�
���������+ 6���������$� ������� 6���$��'�������� 	8�
;
%	8�>�
 ����� ���

T
0(eff)
0 =

ν2

G2

[
1

2r4
− q1

N ′

r5
+ (13q1 + 4q2 + q3)

N

r6
− (q1 + q2 + q3)

1

r6

]
, 	
�?


T r(eff)
r =

ν2

G2

[
1

2r4
− q1

N ′

r5
− 2q1

Nσ′

r5σ
− (7q1 + 4q2 + q3)

N

r6
− (q1 + q2 + q3)

1

r6

]
, 	
�8�


T
θ(eff)
θ = T ϕ(eff)

ϕ = − ν2

G2

[
1

2r4
− 3q1σ

′N ′

2σr4
− q1Nσ′′

σr4
− q1N

′′

2r4
−

− (7q1 + 4q2 + q3)

(
(σN)′

σr5
− 2N

r6

)
+ (q1 + q2 + q3)

2

r6

]
. 	
�88


@�������� G θ
θ = 8π T

θ(eff)
θ �������� ��������2�����+� ���������� ���- ����+- ��������! :!�'

,��!��� (�������� �� 6��- ���- ��������!" G 0
0 − G r

r = 8π
(
T

0(eff)
0 − T

r(eff)
r

)
" ���� ��������� ��

����2�� σ(r)�

r
σ′

σ

(
1− κq1

r4

)
=

κ(10q1 + 4q2 + q3)

r4
. 	
�8



A���� κ = 8πν2

G2 B ����� ���/��� ���������" ����)�� ����������� ���)���� C���2�� N(r) ���'
���������� ����!���� ��������2�������� ���������

rN ′
(
1− κq1

r4

)
+N

[
1 +

κ

r4
(13q1 + 4q2 + q3)

]
= 1− κ

2r2
+

κ

r4
(q1 + q2 + q3) . 	
�8>
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��	 ��

����������	 
��
�� q1 = q2 = q3 = 0� ���� q1� q2� q3 �	
�� �
��� 
�	
����� ������ �
	�������������� 
���
�� σ(∞) = 1 �	�� σ(r) = 1� ����	 �� 
�	
����� ������ ���
�	��

N = 1− 2M

r
+

κ

2r2
, ���� �

��� M ! �����	��	 ���������
	���� �����
	�"	� 	������������
� �	��
 �������� �
 ��������#
�����$ �����%	$ 2M �	
�� �	��
�
 &
	�%'��(�	 rg�� )�� ��'���� ���	 ��+�����	,-������.�	�

������������� ��
��� � q1 �= 0� /�� �����
��(��$ q1� q2� q3 
�	
����� ������ � ������ �

���
��� σ(∞) = 1 �	��

σ =
(
1− κq1

r4

)β
, β ≡ 10q1 + 4q2 + q3

4q1
, ����0�

N = 1− 1

r
·
(
1− κq1

r4

)−(β+1)



2M − κ

2

+∞∫

r

dx

x2

[
1 +

6

x2
(4q1 + q2)

] (
1− κq1

x4

)β


 . ������

1���	 r → ∞ 2�� ��'���� 	������������� 
��
� ��3� �	�

σ = 1− κq1
r4

β + . . . , N = 1− 2M

r
+

κ

2r2
+

κ

r4
(4q1 + q2) + . . . , ����4�

�� ���( 
��
"�� ����� �	���5���� �����
	�� ��'���� ��+�����	,-������.�	� 	 �������	�(���
����� ���
������� �	���	� � ���
.����� ������	 �� 1

r �
1���	 r → 0� �
��%�� σ(r) ��5�� �������(�� � 3������������� ���� β ����5����(�	� ��5��

�������(�� � �
��� ���� β ����%	���(�	� � ���	.��� �	
��+ �����%�� ���� β = 0� /�
���� ���
	���
����������+ ��2���%���� g00 = σ2N ��5�� 3��( �����
������ 
 �	�	�� �������	� r = 0� ����	
10q1 + 4q2 + q3 �= 0� 7���� ����� ����	 �	�	���� q1 ����5������� σ(r) �	
�	 �
�� 
 ����� r(s) =

(κq1)
1
4 � ���� β > 0� � ����	
���� ���
	����	�� ���� β < 0� 	�������
�� ��
����
	 ���
	����	���

��
������	
 
��
���� ��� r(s)� ��	�� ��	���������	
��� ��	 ���������� �	�	���� ��	 β = 1�
���� �

�
������	� 6q1 + 4q2 + q3 = 0� �	��� �	������ �	��	� �������

σ = 1−
(r(s)

r

)4
,  !�"#$

N = 1−
[
1−
(r(s)

r

)4]−2{
2M

r
− κ

2r2

[
1− 1

5

(r(s)
r

)4
+

2(4q1 + q2)

r2

[
1− 3

7

(r(s)
r

)4]]}
,  !�"%$

��� 
	�	�	�	� σ(r(s)) = 0� ��	 
������� 
������� N(r(s))� �	 	�� �	��� ���� 
	����	�� ���
	����	�
��� ��
�	� ���� 
 ��
����	��� 	� �		��	����� ����� q1� q2� M � κ� &�������� 
	��� q1 =
κ
16 � q2 = −κ

8 � M = 24
35

√
κ� �	������� ��	 r(s) =

√
κ
2 � N(r(s)) = 0� 	���
	 �
���� ����� R �



���������� ��
������� 
��
���� RikR
ik� RikmnR

ikmn ��������� 
 �	�
� r(s)� ( �����) ������)
��� ��
������� 	���*����� 
 ���
	����	���� ��
�� 	����	�� �	��	 	��������� ��
�� �	�
�
r = r(s) 
�
 	�	��� ������������� ���������	���� +	��� q1 	���,������	� ��
�� ���������	���
�� �	�
�������

�����������	� �
���� � q1 = 0
 ��
 
�
 q1 �	�
������ 
 ����������� 
�������� ��� β
 !�"-$� �����	���� ������ ���,������� ������ q1 = 0� ������ ��������
�� ���
,�� ����� 
��/

σ = exp
{
− κ

4r4
(4q2 + q3)

}
,  !�!0$

N = 1− 1

r
· exp

{
κ(4q2 + q3)

4r4

}
×


2M − κ

2

+∞∫

r

dx

x2

(
1 +

6q2
x2

)
exp

{
−κ(4q2 + q3)

4x4

}
 .  !�!"$

1��
����� ����������
�� ��	����� 
	��	��� ��� �	���� � q3 = −4q2� 2����
������	� ��� ��	�
�	���� σ(r) = 1� � �
�	� �	��	� ������� ��� ���
,�� N(r) ����� 
��/

N = 1− 2M

r
+

κ

2r2
+

κq2
r4

.  !�!!$



�� ���� �������	 �� 
� ����
�

�� ����� ��	
 � �������
	���� 
�
������� ������� ��������
��
�������
 � N(0) = ∞� �
�
�
������� 
�	
�
�� �
���
��
��� �
��
 
	����
� ���
� !�
"�����  ��"���
�
 #
����


r4 − 2Mr3 +
κ

2
r2 + κq2 = 0 $���%&

����� "�����"����� #
	
'���	���� �
���� (������ �"
 �
 �
 ���
���) �	! 
�� �
#!��
*���
�#�+��� ����� �������
	���� �
���
����
��� M = 0 � q2 < 0
�
��
 #
	
'���	���� "�����"����� �
���� $���%&

r = r(H) =
1

2

√
κ

√√
1 +

16|q2|
κ

− 1 . $���-&

. �����
	��
� #����	� r(H) �
"#
�
�� � r = 0 � ��������� �
√

2|q2|� �
��
 |q2| ≪ κ�
���� κ = 2M2 � q2 < 0
/�
"����� $���%& ����� "�����"����� #
	
'���	���� �
����

r(H1) =
M

2


1 +

√

1 +
4
√
2|q2|
M


 . $���0&

1�	�� "�
�
"
�� M > 4
√
2|q2|� �
 �!����"!*� ��� �"
 �
���

r(H2,3) =
M

2


1±

√

1− 4
√
2|q2|
M


 . $����&

. �����
	��
� #����	� !�	
"�� κ = 2M2 #�����
"	��� �
� �
��"
��!* 2������
	��!*  ���!*
���! ��������
��
�������
� �	� �
�
�
� 
�
 �
���
��
 �
"#
�
*�� 1�	� q2 < 0� �#�+��� �����
�
��!�� r(H1)� r(H2) � r(H3) ���
*� �
	� �������
	���) �
��!�
" �
���
��
"� 3
������  �
� �
��

q2 ��������� � �!	*� r(H1) → r(H2) → M � r(H3) → 0�

��������	� 
��
�	�	
��������	� 

����� 4
��
 10q1 + 4q2 + q3 = 0� 4q1 + q2 = 0� �
 �����
q1 = −q� q2 = 4q� q3 = −6q� � q #
	
'���	��
� �� #
	! 
�� �
"
� �"�
� �
 �
� �������

σ(r) = 1 , N(r) = 1 +
r2 (k − 4Mr)

2 (r4 + κq)
. $���5&

�
�����
� �!��+�� N(r) #�����
�� ��
 ���� N = 1 " ���) �
 �
)6 N(0) = 1� N
(

κ
4M

)
= 1�

N(∞) = 1 $
���#�
�� ����&� 1�	� M = 0 "�
�
� � ������ �
 �� �
"#
�
*�� N(r) � 1 � N(r) �����

�
	��
 
��� 2������!�� �
����!�� " �
 �� r(max) = (κq)
1
4 � 1�	� M �= 0 �
�	*�
���� �	��!*�
�

������+��� �
��
 �
��
M "
��
��
��� 7	� ���
	���)M ������� �����!� " ���
�
�
� �
 �� r(min)

$r(min) > κ
4M &� �	� �
�
�
� 0 < N(min) < 1� 3
��� 2�
� �����!� �
����
�� ��
 ���� N(min) = 0�

�
��
 �
��
 #�����
�� ���
�
�
� ����� ���
� ��
 ���� M(crit)�

M(crit) =
r∗
6

(
4 +

κ

r2∗

)
, r∗ =

√
κ

2

√√√√
(√

1 +
48 q

κ
+ 1

)
. $���8&

�
��� 
��
�
�� �
��
 M < M(crit) ������
 $���5& �� ����� �
���
��
"� �
��
 M > M(crit)� �!��9
��"!*� �"
 �
���
��
� r− � r+� 4
��
 M = M(crit) �!��+�� N(r) �
"�
 �!	* �
	��
 #�� r = r∗�
�
 ����� " 2�
� �	! 
� ������
 $���5& �"	����� �������
	���� 
�
	
�
� 2������
	��
�
 ����9
��� ��������
��
�������
� 1�	� q = 0� #
�
���� r∗ �
"#
�
�� � �
��!�
� ��������
��
�������
�
rQ =

√
κ
2 �

/���
	��
�� �
 �
�
 ������� $���5& �
��
�� " �
��  �
 
�
 ���!	���
 " �
 �� r = 0� �
� �
�
��
���
��	� �� �
'�� 
��
�
���� " �!	�� 
 ��"
��
��� ���"���� R� RikR

ik� RikmnR
ikmn �
�� ��

#�� r = 0�
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��	 ��

�������	
�� ��

�� �
�������������� ��� ��

��� ����
�� 	 ������
���� 
����� ������
��

� ���	���	����� ������� �
������������� ����	�� ��� ���

T
0(eff)
0 =

κ

16π
· r

4 + 16Mqr − 3κq

(r4 + κq)2
!"#"$%

� �����	�����
� ��� ��������
� ����& r !
������� ��� r = 0% ��'���	��� 	����
������
��

	����� U i = δi0 ��� �������� T
(eff)
ik U iUk < 0#

���� �� ����������		
� ���
	���� � �
�����	�� 	
��	�����	�� ���
��� ���	�� ��	�� �����
�����
�

�������
����� 	����	������� ����������		��� ���
	����� � ����
		����� ���� 1

r
� �
	��
� ������	
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������ ��
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������ 	�����
 ��
� 	��
�  �
�
	��� � ������
 ���
	�����" ��#�
��
�$ ��	�����

���
	����� � �����
������%
� ��	
 ���
��& ��#����
�$ ��������� ���
	����� � �����
������%
��

����������%
�� ����
��$ ��������
		��� �
���  ����
������& �#��
����$ ��	����� ���
	����� � �
	��
 �

����'��� � 
�� ���
��	�����

�� ��������	
��� �
������ ��
�

���� ������� 	 
���
� ���� �������

(�
�	
�� �����

����� ��
��� �����	�& 
�� �	������ ��� ���� ��� ���&������ �����	��

��� �	�
�
� � 
��
��)
�� 
�����
��� �	���	��� �
������������� ����	�� �� ���� ������� 
��
&���'���� 	 �����	�
� �����	�� 
��� ���)
� �������� *��
����������+ �	����	��� ,��℄# .���
���
���	� ����� ��
��������� ������
/�� ��)�� �����	��� �������	��
�� ���� 
���
�����
�
�	�
�

�� � ���	���/��

�� ����� ��0����#

1���� 	 ������� !"#2% �������
�� ��
�/�� 
������� ����
���
��� R2 = r2+a2 � �������	���

�� ���� ����� ����� 	��

A0 = Ar = 0 , Aθ = itϕ , Aϕ = −iν sin θ tθ . !�#2%

1�	����� ���/����� �����
�

�� 
��� ��� 
�&�)��
�� ��
�����
�& ����
�� ������� ��
��
/�� σ(r) 	 �	
�� ����� ��� ����
	���
�& 

���
�� ���������	 q1 q2 � q33

σ(r) =
r√

r2 + a2

[
1− κq1

(r2 + a2)2

] 10q1+4q2+q3
4q1

, !�#"%

� ���	
�
�� 
� ��
�/�� N(r)3

r

[
1− κq1

(r2 + a2)2

]
N ′ +N

[
1 +

a2

(r2 + a2)
+

κ(13q1 + 4q2 + q3)

(r2 + a2)2
−

− κa2(15q1 + 4q2 + q3)

(r2 + a2)3

]
= 1− κ

2(r2 + a2)
+

κ(q1 + q2 + q3)

(r2 + a2)2
. !�#�%



�� ���� �������	 �� 
� ����
�

������ q1 < 0� ��� ���	
����
���� q1 ����
	� σ(r) 	���� �	�

σ(r) =
r√

r2 + a2

[
1 +

κ|q1|
(r2 + a2)2

] 10|q1 |−4q2−q3
4|q1|

. �����

�����	�� ��� σ(r) � ����� ������������ � ���
 ��	 r = 0� �� ���
 σ(0) = 0�  ���� ��!��	� ��
��"�� ��	�#���
 ���$��	��% �������% ����� &����	�� ���"�� ���

√
−g(0) = 0� ��� g ' ������	(

���� gik� g = −σ2(r2 + a2)2 sin2 θ� )�� �*������� ��� �#+������ �	����� �����	��� �������� ���$�
�������,���- ��	 r = 0� 	 �� 	���� ���+�������- ���
�� ��	 r ∈ (0,+∞) �	�	� .��	��������� ��	
(−∞, 0)��

������ q1 = 0� / .��� ������ ��!��	� ��� σ(r) ����+��*����� �

σ(r) =
r√

r2 + a2
exp

{
−κ(4q2 + q3)

(r2 + a2)2

}
. ���0�

1���
	� σ(r) ����� ���% ��	 r = 0� �� ���
 σ(0) = 0� )�� �*������� ��� 	 �����- q1 = 0 ��
��������� �����������	� ���$��	�#$ ������#$ ����

������ q1 > 0� ��� ����"	���
���� q1 �	� ��!��	� ����������� *��	�	� �� �������%����
��������� β ≡ (κq1)

1/4� ��������	� ��	 �������
��� β < a� 3����	!�� ��!��	� ��� ���4� �����%�	� �+��*��5

σ(r) =
r√

r2 + a2

[
(r2 + a2 − β2)(r2 + a2 + β2)

(r2 + a2)2

] 10q1+4q2+q3
4q1

. �����

����	���� ��� +�������� �����	% β < a �#��"��	� � ��������#$ ���+��$ � ������� ����� ����"	(
���
�� ��� �%+��� r� 6���������
��� ��� ���$ *�����	- ��������� (10q1 + 4q2 + q3)/4q1 ����
	�
σ(r) 	���� ��� "� *���� ��� 	 r� 	 �+�������� � ���
 ��	 r = 0� �� ���
 σ(0) = 0�  �� "� ���
����#���	$ ������$� .�� �*������� ��� ���$��	�#� ������#� ���# �� ��������%��

���� β > a� / .��� ������ �#��"��	� � ��������#$ ���+��$ � �������		 ����� ����� ���%� ���	
r = r∗ ≡ (β2 − a2)1/2�  ����� � *��	�	����	 �� *���� ���	�	�# (10q1 + 4q2 + q3)/4q1� ��!��	� σ(r)
�+�������� � ���
 	�	 �����	��� � +�����������	 ��	 r = r∗� 7���� 10q1 + 4q2 + q3 = 0� �����
	����� ��� σ(0) = 0�  ��	� �+��*��� �����- β > a ���"� �� ��������� ���$��	�#$ ������#$ ����

����� β = a �	�	� .��	��������� q1 = a4/κ�� ��!��	� ����� ��� ����
		 σ(r) ���+�� �����	���

� �����%��- �����5

σ(r) =

√
r2 + a2

r2 + 2a2

[
r2(r2 + 2a2)

(r2 + a2)2

] 12q1+4q2+q3
4q1

. ���8�

3������	� σ(r) �+�	*	 r = 0 ����������� *��	�	� �� *���� ��������� 12q1 + 4q2 + q3� ��������
� ����*����� ������	� / ��������	� ��� 12q1 + 4q2 + q3 > 0 	���� σ(0) = 0� � �� ����� ��� ���	
12q1 + 4q2 + q3 < 0� �� σ(0) = ∞�  ���� �������	� σ(r) 	���%���� ���$��	�#� ������#� ���#�
��������	� �������	- �����-� ����� 12q1 + 4q2 + q3 = 0� / .��� ������ �# ��������� ���

σ(r) =

√
r2 + a2

r2 + 2a2
. ���9�

1���
	� σ(r)� ������ � ���9�� �������� ���������- 	 ����"	���
��- �� ��,� 	�������� (−∞,+∞)�
+���� ����� σ(±∞) = 1�  ��	� �+��*��� σ(r) ������������� ���� ���+$��	�#� �����	��� 	 �������(
����%��� ������� ����	����
	� ��"�� ��������	���
�� ��� ����	��� ��� ��	��� ���$��	�#$
������#$ ���� / �����%��� ��������� �# ������	� ��!��	� ��� σ(r) ��!��	�� ��� ����
		
N(r) 	 �+���	� ���-���� ���	�	���
��- �������- ���# /�:;����

���� �������	
��	� 
�����	� ���	 ������	

/ .��� ��������� �# �����
�� ��������	� ���
	��
�#- �����-� �����������%�	- �����%��(
�� �#+��� ���������� ���	�	���
���� �*�	����-���	� q1� q2� q35

q1 = a4/κ, 12q1 + 4q2 + q3 = 0. ���<�



������������	 
����	 
��	 ��

���� �� ������� �	
���� N(r) �
� �
	���� α ≡ aκ−1/2 > 1/2� α = 1/2� � α < 1/2�

����� 	���
�
�� ����� ����� ��� 
���� !���
���������
� � �������	��"

N(r) =
(r2 + a2)3/2

r3
√
r2 + 2a2

{ r∫

0

dx

(x2 + a2)3/2
√
x2 + 2a2

[
x4 + 2x2

(
a2 − κ

4

)
−
(
10a4 +

κa2

2
+ 3κq2

)]
+ C

}
,

���#$�

��� C % ��
���
�� �
���������
��� &������� ��� �
� !���'��
 
�" '
���
�( a� q2 � C �	
����
N(r) �' ���#$� 	���
�������� ����!����������	 	�
���) N(±∞) = 1� *�
�'� r = 0 ������
��
�
� N(r)� ����+� ������� ���"������� ����� !�����
�� N(r) ��
����� 
�!��"���+�� �
� �!���,

�� !��"�����" �������" 
��� &�
��� �	+����	)� �!����
 
�� '
���
�� !��������� q2 � C� �
���

�-

C = 0 , q2 = −10a4

3κ
− a2

6
, ���##�

�
� ������" ��.�
�� �/�#�� !�����+����� �

N(r) =
(r2 + a2)3/2

r3
√
r2 + 2a2

J(r) , ���#/�

���

J(r) =

r∫

0

x2dx

(x2 + a2)3/2
√
x2 + 2a2

(
x2 + 2a2 − κ

2

)
���#��

% �	
���� �� r � ��	" 	!���
�)+�" !���������� a � κ� * ������
���� r = 0 �	
���� N(r)�
��

�� � ���#/�� ���0� ���� ���

N(r) = (3a2)−1(a2 − κ/4) +O(r2) . ���#1�

&��)�� ���
�� ��� N(r) ����� ��� !�
�����
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) !�� r = 0
� '���������� �� ��
�.�
�� ����	 ��	�� !����������- a �����	��� ���
���
� �������( 
����
� κ �'�������� !����������� * ��
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α = aκ−1/2� 2�����
�� �	
���� N(r) � '���������� �� α !���

)��������
� 
� ���� ��
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���� �� �
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�� ����
�.�
�� g00 = σ2N � −grr = 1/N � ��!�
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�
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ds2 =
(r2 + a2)5/2

r3(r2 + 2a2)3/2
J(r)dt2 − r3(r2 + 2a2)1/2

(r2 + a2)3/2
dr2

J(r)
− (r2 + a2) (dθ2 + sin2 θdϕ2) . ���#��
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�

���� �� ����� �����	�
 ���� M̃(α)
 ���������� ������� ����	����	��� α < 1/2


��������� ����������	��	������ �����	�
 ���� ������� ������	����  �	���� ��  ��!����
�� �� ������� ��������� α = aκ−1/2
 �������" !�� #�� α > 1/2 ����%�� N(r) �	������ ����&��
������ ����#������
 '��
 ���
 )*" �" ���#�	�������" ���������� ������� g00 = σ2N � −grr = 1/N
����!�� � ����&������� 	� 	��
 ������� (−∞,+∞)
 +�� � ��!���" !�� ����������	��	���� ��
����� ���� ����	 ������
" �� ���� 	 ,��� ���!�� �����	�� ���� ������� �	������ ����������


� ���!�� α < 1/2 ����%�� N(r) ������  ���
 -�� ����&������� #�� |r| > rh" ����%������� #��
|r| < rh � ��	�� ���. ��� |r| = rh" �� ���� N(±rh) = 0 'rh / ��������
 ��������" ������
 ��&��
���� ����� ��
#�� !������� #�� ��&#��� α < 1/2*
 � ����������� |r| = rh ����� g00 ∼ (r − rh) �
grr ∼ (r − rh)

−1
 +�� � ��!���" !�� ��!�� |r| = rh �	��.��� ��!�� ����" ��� #	��� ���� ������
������
 0	��%0���#�	����� ���� 	 ����������	��	������ �����	�
 ����" � rh / ��#��� ���� ���
��	
 � �������1 ��� ��!����1 ������� |r| > rh � N(r) > 0 � |r| < rh � N(r) < 0 ���#���	��.�
����
 2� � 3��������" ����	����	����
 4���� ���� ��" 	 ���!�� α < 1/2 �����	��� �����	�
 ���
�� ������� ��� �	����� ������
 	 3��������  � ���� ������
 4���� �����	�� ���� �	��.���
	
����������� � ��!��  ����� �#�������� ����.#�����
 5� �������� � !������ #����� ��&��
�� 	��� ����� ��6���� �
��	���� ��������� 	�����


-������" !�� #�� α = 1/2 ��� ���� ���� |r| = rh ���	�.��� #��� � #����� � ���� �.� ���� ���
������
" �������&����
 	 �����	��� �����	�
 ���� r = 0
 4����� 	 ����������� r = 0 �����
g00 ∼ r2 � grr ∼ r−2" � ,��  ��!��" !�� r = 0 �	������ ,������������ ���� �����
 � ,��� ���!��
4�������� �������	���" � ���� ��� ������
 �� #����� #	� 2��������


-���#�� ������ ������� #�� ���������!����
 ����� �����	�
 ���� �������" � �������
 �#��
������ ����.#������
 ����� �����!����
 �����!���� ��������!��
 ���������%�� ����#�������
���

M =
1

2
· lim
r→±∞

{
|r| (1 − g00(r))

}
. ')
7�*

8����� �� ������� ')
79* ��&�� ��
�� ����� �����&��1 ������� �	���
" !�� 	���&���� #��
����� ������������
 �����	�
 ���� ������� ����� 	�#:

M

κ1/2
≡ M̃(α) =

π
√
2π

Γ2
(
1
4

)
(
α− 1

4α

)
+

Γ2
(
1
4

)

16
√
2π

1

α
, ')
7;*

�#� Γ(z)/ ����������%�� +
����" � α = aκ−1/2 � M̃ = Mκ−1/2 / �� �� ������ 	���!���
 ������

M̃(α) #�� �� ���
 =
 ����� ��������" !�� M̃(α) ����&�������" M̃(α) > 0
 >���� ����" ����%��

M̃(α) ����� ������� M̃min ≈ 0.653 ��� α = αmin ≈ 0.545
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